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Answer all the questions.

An isosceles triangle ABC has a length AB = AC =(5p—2¢) cm and BC=(3p + q) cm.

Find the perimeter of triangle ABC in terms of p and gq.

vneler < agsp-2) + Rrq — O
T 10p- A4 +3pra
=(12¢ - 2,) on.
()

eqvelor > Sp-aa,t 5=, + pra — )
= (13p-3q) oM

Answer .. \307.2%.. ... \.[2]
2 If 3(x—y)* =51 and xy = 21, find the value of x* + y*.
e L onNve -
_ S = 3L 2xg ey 2
XT-2RY " T Do (XY ‘_3:!1=5\
ES p S
® - g(_::.Q *’r\d =\ -‘@ a2 Ll * 33"-—51 ——[Hg
ARG = AR 3>+ 3T 5 Sk
= 5T % w2x3T = W

7(,“-'(:11-= A ¢

Answer ... ... 50\___.®[3]
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3 Expand and simplify each of the following expression.
(@) (Ba-2b)(5a+b)
= .
= (5a” 1 Wb —10ab — 2 ———@
= Ba? - Ao - ap

Answer ..‘.’53‘.- et L))

2
(b)  (2x+3y)* +3x2 -Xy C"’tp

:1 At * 4 12y & %1 3x*t "Xj @ L ooovvedk
e uf)qv\S\W\‘

= 3t 4 Wy + q\dz&

Answer AN A A [2]
-®

4 (a) Solve the equation 2x* +x=15.

2Ty - 1D =D

-5 | -5%
2% Cant- SICHXD) = O — @

® Pevioise W Aok

x ERRY UNVIEN  Pre sematetion
) \ o s B ov L= =3 5, W stwdewk o\\c)\ V\d\’
7L=r§.& wide © =0 | o

Answer x= . 3% 90, 3.2
L@ - oo tseveck:
(b)  Hence, solve the equation 4(y 1) +2(y 1) = 30.

404) < 2(g-) = 20
l(g—\‘)k'(' (‘J —l) £ |55, S @

(et L=y~
y- P ; O 1&—l="3 —-——@:(’ﬁ?
- 3—‘1& - Bdiate”

& Ov —-:l [3]

Answer y =
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5  Aqil’s father is x? years old while Aqil is x years old now. In 5x years’ time, Aqil’s father
is twice as old as him.

(a8) Form an equation in x and show that it reduces to x> —7x=0 . [2]

X4 By - o (2 4B%) —®
X ASK = ok ‘lf D) : Sy and gnan

-adx = O. (SV\NV‘\&

(b) Solve the equation x*-7x=0.

EA~S) =0 ==l
X0 Cvef) o ATy — @® et Muons  wwrt
"I, EVC T4
Answer x=........ 7. .. -[2]
= &w\d- Qewa,\;xe R
(c) Hence, find the age of Aqil’s father now. Rundewr alse tduded
Oon o omawex -
Age = T
— M .

ANSWEY worvvins ...o.“.a.\..f'.....years old [1]
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6  Factorise each of the following expressions completely.
(@ 2x*-50x
= 2 (a2-28) — W) 3 A 1:@ (oY) Ca~b>
=3 (x4 5) (x-B)
A, B EES)65) b
b 2 -
(b) 6y*+9y-42 wo oA\ ™
=30y tg-\—-B® 7 a1 -ay.
= 3(%‘\‘4\ Cﬂ’l\'ae( ‘).,d> -4 l S|
V... 35
0y>s Y- 42 = (34-4) oy — )
=3OV
Answer ... 2243 ) 2]
- @
(¢) 2ax-5bx+15by—6ay

n

2 (oo BY) & 3 (Bo-2a) — (@)
£ Coa- 5) - 35 (a- 5
(h- ) (2a-3b)

Answer ...L.E%ﬂ.?..@.?%\.r%).. 2]
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7 The variable x anq Y are connected by the equation y=2x”+6x—-3. Some values of x and
the corresponding values of y are given in the table,
" = -3 -2 = 0 I
Y ? = p -7 -3 5
(@)  Find the value of p.
f =2y 4 03) -
Answer p= .. 77%.. @ sl
1 -axis and
(b)  On the graph grid below, using a scale of 2 cm to represent 1 un:t 0;1 the3xf2)r(
1 em to represent 1 unit on the y-axis, draw the graph of y=2x" +6x "
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(¢)  Use your graph in (b) to find

() the value of y when x = -2.5

_&.5 (*0:2) =

Answery = ...... 219 T )[1] ’O
(-53,-56 -54,-53)

i thew of the line of symmetry of the graph

U b x> e 8

(=14, —1-45 ~1:65 , - L),

END OF PAPER
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